Some Properties of Fuzzy Filters in Lattice Implication Algebras

Weitao Xu¹ Li Zou² Zhiyan Chang¹ Lijun Bai¹ Yang Xu¹

¹Intelligent Control Development Center, Southwest Jiaotong University, Chengdu 610031, P. R. China ²School of Computer and Information Technology, Liaoning Normal University, Dalian 116029, P. R. China

Abstract

In this paper, several equivalent conditions for fuzzy filters are given in lattice implication algebra. The relation between fuzzy filters and fuzzy implicative filters is discussed. It is also proved that fuzzy implicative filters are fuzzy filters in lattice implication algebra.

Keywords: Fuzzy filters, Fuzzy implicative filters, Lattice implication algebra.

1. Introduction

In order to research the logical system whose propositional value was given in a lattice, Xu proposed the concept of lattice implication algebras, and discussed their properties in [1]. Xu and Qin introduced the notions of filters and implicative filters in lattice implication algebra, and investigated their properties in [2]. In [3], Xu applied the concept of fuzzy sets to lattice implication algebra and proposed the notions of fuzzy filters and fuzzy implicative filters. In [4], [5], the notions of implicative filters, positive implication and associative filter were studied. In [6], [7], fuzzy filters, fuzzy positive implication and fuzzy associative filters were presented, and their elementary properties were discussed. Filter theory play an important role in studying the structure of algebras.

In this paper several equivalent conditions for fuzzy filters are proved in lattice implication algebra. At the same time we discuss the relation of fuzzy filters and fuzzy implicative filters.

2. Preliminaries

Definition 2.1 [1] (**Quasi-lattice implication algebra**) Let (L, \vee, \wedge, O, I) be a bounded lattice with an order-reversing involution', I and O the greatest and the smallest element of L respectively, and

$$\rightarrow: L \times L \to L$$

be a mapping $.(L, \vee, \wedge, ', \rightarrow, O, I)$ is called a quasilattice implication algebra if the following conditions hold for any $x, y, z \in L$,

$$(I_1)x \rightarrow (y \rightarrow z) = y \rightarrow (x \rightarrow z);$$

$$(I_2) x \rightarrow x = I;$$

$$(I_3) x \rightarrow y = y' \rightarrow x';$$

$$(I_4) x \rightarrow y = y \rightarrow x = I \text{ implies } x = y;$$

$$(I_5)$$
 $(x \to y) \to y = (y \to x) \to x$.

Definition 2.2 [1] (Lattice implication algebra) A quasi-lattice implication algebra is called a lattice implication algebra, if (l_1) and (l_2) hold for any $x, y, z \in L$,

$$(l_1)$$
 $(x \lor y) \to z = (x \to z) \land (y \to z);$

$$(l_2)$$
 $(x \land y) \rightarrow z = (x \rightarrow z) \lor (y \rightarrow z).$

Theorem 2.1[1] Let L be a quasi-lattice implication algebra, then for any $x, y, z \in L$,

(1) If
$$I \rightarrow x = I$$
, then $x = I$;

(2)
$$I \rightarrow x = x \text{ and } x \rightarrow O = x'$$
;

(3)
$$O \rightarrow x = I$$
 and $x \rightarrow I = I$;

$$(4) (x \to y) \to ((y \to z) \to (x \to z)) = I.$$

Theorem 2.2[1] Let *L* be a lattice implication algebra, then for any $x, y \in L$, $x \le y$ if and only if $x \to y = I$.

Theorem 2.3[1] Let L be a lattice implication algebra, then for any $x, y, z \in L$,

$$(1) (x \to z) \to (y \to z) = y \to (x \lor z)$$

$$=(z \to x) \to (y \to x);$$

$$(2) (z \to x) \to (z \to y) = (x \land z) \to y$$

$$=(x \to z) \to (x \to y)$$
.

Theorem 2.4[1] Let L be a lattice implication algebra, then for any $x, y, z \in L$,

(1)
$$z \rightarrow (y \rightarrow x) \ge (z \rightarrow y) \rightarrow (z \rightarrow x)$$
;

(2)
$$z \le y \to x$$
 if and only if $y \le z \to x$.

Theorem 2.5[1] Let L be lattice implication

algebra, then the following statements are equivalent:

- (1) For any $x, y, z \in L$, $x \to (y \to z) = (x \land y) \to z$;
- (2) For any $x, y \in L$, $x \to (x \to y) = x \to y$;
- (3) For any $x, y, z \in L$,

$$(x \rightarrow (y \rightarrow z)) \rightarrow ((x \rightarrow y) \rightarrow (x \rightarrow z)) = I$$
.

In lattice implication algebra L , we define binary operations \otimes and \oplus as follows:

for any $x, y \in L$,

$$x \otimes y = (x \rightarrow y')';$$

 $x \oplus y = x' \rightarrow y.$

We can get the following theorem:

Theorem 2.5[1] Let L be a lattice implication algebra, then for any $x, y, z \in L$,

- (1) $x \otimes y = y \otimes x$, $x \oplus y = y \oplus x$;
- $(2) x \rightarrow (x \otimes y) = x' \vee y = (x \oplus y) \rightarrow y;$
- $(3)(x \rightarrow y) \otimes x = x \wedge y;$
- $(4) x \rightarrow (y \rightarrow z) = (x \otimes y) \rightarrow z;$
- (5) $x \rightarrow (y \rightarrow z)$ if and only if $x \otimes y \leq z$;

Definition 2.3[2] A non-empty subset F of lattice implication algebra L is called a filter of L if it satisfies:

 $(F1)I \in F$,

$$(F2)(\forall x \in F)(\forall y \in L)(x \to y \in F \Rightarrow y \in F).$$

Definition 2.4[3] A fuzzy set A of lattice implication algebra L is called a fuzzy filter of L if it satisfies:

 $(F3)(\forall x \in L)(A(I) \ge A(x)),$

$$(F4)(\forall x, y \in L)(A(y) \ge \min\{A(x), A(x \to y)\}).$$

Theorem 2.6[3] Let L be a lattice implication algebra and A a fuzzy filter of L, then for any $x, y \in L$, $x \le y$ implies $A(x) \le A(y)$.

Definition 2.5[3] Let L be a lattice implication algebra, A is a non-empty fuzzy set of L. A is called a fuzzy implicative filter of L if it satisfies:

(F5) $A(I) \ge A(x)$ for any $x \in L$;

(F6)
$$A(x \to z) \ge \min\{A(x \to y), A(x \to (y \to z))\}$$
 for any $x, y, z \in L$.

3. Main properties

Theorem 3.1 Let A be a fuzzy set of L. A is a fuzzy filter of L if and only if it satisfies the following conditions: for any $x, y, z \in L$

$$(1) A(x) \le A(I) ;$$

$$(2) A(x \to z) \ge \min\{A(x \to y), A(y \to z)\}.$$

Proof. Assume that *A* is a fuzzy filter of *L*, then (1) is trivial and for any $x, y, z \in L$

$$A(x \to z) \ge \min\{A(y \to z), A((y \to z) \to (x \to z))\}.$$

By theorem 2.2 and
$$(x \to y) \to ((y \to z) \to (x \to z))$$

$$=(x \rightarrow y) \rightarrow ((z \rightarrow y) \rightarrow (x \rightarrow y))$$

$$=(z \rightarrow y) \rightarrow ((x \rightarrow y) \rightarrow (x \rightarrow y))$$

$$=(z \rightarrow y) \rightarrow I = I$$
,

then
$$(x \to y) \le (y \to z) \to (x \to z)$$
.

Since theorem 2.6, hence

$$A((y \to z) \to (x \to z)) \ge A(x \to y)$$
.

It follows that

$$A(x \to z) \ge \min\{A(y \to z), A(x \to y)\}.$$

Conversely, suppose that A satisfies (1) and (2), for any $x \in L$, it follows that $A(x) \le A(I)$. By (2), it follows that for any $x, y, z \in L$,

$$A(z) \ge \min\{A(y), A(y \to z)\}$$
, where $x = I$.

Hence A is a fuzzy filter of L. \square

Theorem 3.2 Let A be a fuzzy set of L. A is a fuzzy filter of L if and only if it satisfies the following conditions: for any $x, y, z \in L$,

$$(1) A(x) \le A(I) ;$$

$$(2) A(z) \ge \min\{A(x), A(y), A(x \to (y \to z))\}.$$

Proof. Suppose that A is a fuzzy filter of L, then (1) is trivial and for any $x, y, z \in L$

$$A(z) \ge \min\{A(x), A(x \to z)\},\$$

$$A(x \to z) \ge \min\{A(y), A(y \to (x \to z))\}$$
.

Hence

$$A(z) \ge \min\{A(x), A(y), A(y \to (x \to z))\},$$

i.e.,
$$A(z) \ge \min\{A(x), A(y), A(x \rightarrow (y \rightarrow z))\}$$
.

Conversely, by (1) and (2), it follows that

$$A(x) \le A(I)$$
 and for any $x \in L$.

If we take x = y, then

$$A(z) \ge \min\{A(x), A(x \to (x \to z))\}$$
.

From $(x \to z) \to (x \to (x \to z)) = I$ and theorem 2.2, we get

$$x \to z \le x \to (x \to z)$$
,

$$A(x \to z) \le A(x \to (x \to z))$$
.

It follows that $A(z) \ge \min\{A(x), A(x \to z)\}$.

Hence A is a fuzzy filter of $L . \square$

Theorem 3.3 Let A be a fuzzy set of L. A is a fuzzy filter of L if and only if it satisfies the following conditions: for any $x, y, z \in L$,

(1)
$$A(x) \le A(I)$$
;

$$(2) A(z \to x) \ge \min\{A((z \to y) \to x), A(y)\}.$$

Proof. Assume that A is a fuzzy filter of L, then (1) holds and for any $x, y, z \in L$

$$A(z \to x) \ge \min\{A(y \to (z \to x)), A(y)\}$$
.

Notice that for any $x, y, z \in L$,

$$((z \to y) \to x) \to ((z \to y) \to (z \to x))$$

$$= ((z \to y) \to x) \to (z \to ((z \to y) \to x))$$

$$= z \to (((z \to y) \to x) \to ((z \to y) \to x))$$

$$= I.$$

Hence
$$(z \to y) \to x \le (z \to y) \to (z \to x)$$
.

By theorem 2.6 we have

$$A((z \to y) \to x) \le A((z \to y) \to (z \to x))$$
.

By theorem 2.4, we notice that

$$z \to (y \to x) \ge (z \to y) \to (z \to x)$$
.

It follows that

$$A(z \rightarrow (y \rightarrow x)) \ge A((z \rightarrow y) \rightarrow (z \rightarrow x))$$

Hence

$$A(z \to (y \to x)) \ge A((z \to y) \to x)$$
,

i.e.,
$$A(y \rightarrow (z \rightarrow x)) \ge A((z \rightarrow y) \rightarrow x)$$
.

Therefore
$$A(z \to x) \ge \min\{A((z \to y) \to x), A(y)\}$$
.

Conversely, if A satisfies (1) and (2), then the proof of (1) is obvious. By (2), it follows that

$$A(x) \ge \min\{A(y \to x), A(y)\}\$$
, where $z = I$.

Hence A is a fuzzy filter of L. \square

Theorem 3.4 Let L be a lattice implication algebra and A be a fuzzy set of L, if A is a fuzzy implicative filter, the following statements are satisfied and equivalent:

(1) A is a fuzzy filter and for any $x, y \in L$,

$$A(x \to y) \ge A(x \to (x \to y))$$
;

- (2) A is a fuzzy filter and for any $x, y, z \in L$, $A((x \rightarrow y) \rightarrow (x \rightarrow z)) \ge A(x \rightarrow (y \rightarrow z));$
- (3) $A(x) \le A(I)$ and for any $x, y, z \in L$,

$$A(x \to y) \ge \min\{A(z \to (x \to (x \to y))), A(z)\}.$$

Proof. First, we prove that (1) holds. In fact, for any $x, y, z \in L$, we know $A(x) \le A(I)$ and

$$A(x \to z) \ge \min\{A(x \to y), A(x \to (y \to z))\}.$$

It follows that

$$A(z) \ge \min\{A(y), A(y \to z)\}$$
, where $x = I$.

Hence A is a fuzzy filter.

By $A(x \to z) \ge A(x \to (x \to z))$, where y = x, hence (1) holds.

Assume (1) holds, we can prove (2). Since for any

$$x, y \in L$$
, $A(x \to y) \ge A(x \to (x \to y))$, then
$$A((x \to y) \to (x \to z))$$
$$= A(x \to ((x \to y) \to z))$$
$$\ge A(x \to (x \to ((x \to y) \to z)))$$
,

and
$$x \to (x \to ((x \to y) \to z))$$

 $= x \to ((x \to y) \to (x \to z))$
 $= x \to ((y \to x) \to (y \to z))$
 $\geq x \to (y \to z)$.

By theorem 2.6, it follows that

$$A(x \to (x \to ((x \to y) \to z))) \ge A(x \to (y \to z))$$
,

i.e.,
$$A((x \to y) \to (x \to z)) \ge A(x \to (y \to z))$$
.

Therefore, (2) holds.

Now suppose that (2) holds, we can prove (3). In fact, $A(x) \le A(I)$ is obvious. For any $x, y, z \in L$, since

$$A((x \to y) \to (x \to z)) \ge A(x \to (y \to z))$$
,

we get

$$A(x \to z) \ge A(x \to (x \to z))$$
, where $y = x$.

Hence for any $x, y \in L$,

$$A(x \to y) \ge A(x \to (x \to y))$$
.

Since *A* is a fuzzy filter, then

$$A(x \to (x \to y)) \ge \min\{A(z \to (x \to (x \to y))), A(z)\}.$$

It follows that for any $x, y, z \in L$,

$$A(x \to y) \ge \min\{A(z \to (x \to (x \to y))), A(z)\}.$$

Hence (3) holds.

Assume that (3) holds, we prove (1). For any $x, y, z \in L$,

$$A(x \to y) \ge \min\{A(z \to (x \to (x \to y))), A(z)\}.$$

It follows that

$$A(y) \ge \min\{A(z \to y), A(z)\}$$
 where $x = I$.

And $A(x) \le A(I)$, hence A is a fuzzy filter. Since for any $x, y, z \in L$,

$$A(x \rightarrow y) \ge \min\{A(z \rightarrow (x \rightarrow (x \rightarrow y))), A(z)\},\$$

then

$$A(x \to y) \ge A(x \to (x \to y))$$
, where $z = I$.

Hence (1) holds. □

Theorem 3.5 Let A is a fuzzy filter of L . If $x \le y \to z$ for any $x, y, z \in L$, then

$$A(z) \ge \min\{A(x), A(y)\}.$$

Proof. Suppose that A is a fuzzy filter of L, it follows that for any $x, y, z \in L$,

$$A(z) \ge \min\{A(y), A(y \to z)\}$$
.

If $x \le y \to z$, then

$$A(y \to z) \ge A(x)$$
.

Hence $A(z) \ge \min\{A(x), A(y)\}$.

Corollary 3.1 Let *A* is a fuzzy filter of *L*. If $(x \otimes y) \rightarrow z = I$ for any $x, y, z \in L$, then

$$A(z) \ge \min\{A(x), A(y)\}.$$

Theorem 3.6 Let A be a fuzzy set of L. A is a fuzzy filter of L if and only if it satisfies the following conditions: for any $x, y \in L$

(1) If
$$x \le y$$
, then $A(x) \le A(y)$;

$$(2) A(x \otimes y) \ge \min\{A(x), A(y)\}.$$

Proof. Suppose that *A* is a fuzzy filter of *L*, then (1) holds clearly and for any $x, y \in L$

$$A(x \otimes y) \ge \min\{A(x), A(x \to (x \otimes y))\}.$$

By
$$y \rightarrow (x \rightarrow (x \otimes y))$$

 $= y \rightarrow (x' \vee y)$
 $= (y \rightarrow x') \vee (y \rightarrow y)$
 $= (y \rightarrow x') \vee I$
 $= I$

and theorem 2.2, then $x \to (x \otimes y) \ge y$.

By theorem 2.6, it follows that

$$A(x \to (x \otimes y)) \ge A(y)$$
.

Hence $A(x \otimes y) \ge \min\{A(x), A(y)\}$, i.e., (2) holds.

Conversely, if A is satisfied (1) and (2), then (F3) holds. Since

$$A(x \otimes y) \ge \min\{A(x), A(y)\},\$$

then

$$\min\{A(x), A(x \to y)\} \le A(x \otimes (x \to y))$$
.

By
$$(x \otimes (x \to y)) \to y$$

= $(x \wedge y) \to y$
= $(x \to y) \vee (y \to y) = I$

and theorem 2.2, then $y \ge x \otimes (x \to y)$. By (1)

$$A(x \otimes (x \to y)) \leq A(y)$$
,

it follows that

$$\min\{A(x), A(x \to y)\} \le A(x \otimes (x \to y)) \le A(y)$$
,

i.e., $A(y) \ge \min\{A(x), A(x \to y)\}$. Hence A is a fuzzy filter of L. \square

4. Conclusions

In this paper, we provide several equivalent conditions for fuzzy filters in lattice implication algebra. The relation between fuzzy filters and fuzzy implicative filters are studied, and we prove that fuzzy implicative filters are fuzzy filters in lattice implication algebra.

Acknowledgement

This work was partially supported by the National Natural Science Foundation of P.R. China (Grant No. 60474022) and the Research Fund for the Doctoral Program of Higher Education (Grant No.20060613007).

References

- [1] Y. Xu, Lattice implication algebras, *J. Southwest Jiaotong Univ.* 1, pp. 20-27, 1993.
- [2] Y. Xu, K.Y. Qin, On filters of lattice implication algebras, *J. Fuzzy Math.* 1: 251-260,1993.
- [3] Y. Xu, K.Y. Qin, Fuzzy lattice implication algebras, *J. Southwest Jiaotong Univ.* 30:121-127, 1995.
- [4] Y.B. Jun, Implicative filters of lattice implication algebra, *Bull.Korean Math. Soc.* 34(2): 193-198, 1997.
- [5] Y.B. Jun, Y. Xu, K.Y. Qin, Positive implicative and associative filters of lattice implication algebras, *Bull.Korean Math.Soc.* 35(1): 53-61, 1998.
- [6] K.Y. Qin, Y. Xu, On some properties of fuzzy filters of lattice implication algebra. *Liu, Y.M.* (*Ed.*) Fuzzy Set Theory and its Application. Press of Hebi University, Baoding, China, pp.179-182 (in Chinese), 1998.
- [7] Y.B. Jun, Fuzzy positive implicative and fuzzy associative filters of lattice implication algebras, Fuzzy Sets and Systems. 121: 353-357, 2001.
- [8] L.A. Zadeh, Fuzzy sets, Information and Control 8: 338-353, 1965.